Section 3.6 Exercises

1. Compound interest: A = 1500{1 + 0.07)" = §2251.10;
simple interest: A = 130001 + 007(6)) = 52130,

L Compound interest: A = 3200(1 + 0.08)* = $4353.56;
simple interest! A = 3200{1 + 008(4)) = $4224.

A Compound interest: A = 12000(1 + 00757 = S19,908 5%
simple interest: A = 12,000(1 + 0.075(7)} = $12300,

4 Compound interest: A = 13 500(1 + 0.0935)™ = $46,05758;
simple interest: A4 = 15500(1 + 0095(12)) = $33.170
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In #21-24, the time must be rounded up to the end of the next
compounding period.
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. Solve M(I + T) = 4150 (102257 = T
1 In{#3846)
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9 months (the next full compounding period).

m 663 years — round to 6 years
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22. Solve 8000 1 + == | = 16,000:(1.0075)" = 2,50
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@ months {the next full compounding period).

I = 7.73 years — round to 7 years
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9 months (the next full compounding period). Note: A
graphical solution provides r = 1378 years — round o
13 years 10 months

= 13.71 years — round to 13 years
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25, Solve LJ]II(I + W5 36, 500:

== 11.57 years — round to 11 years
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In #29 and 30, the time must be rounded up to the end of the
next compounding period.
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round to 12 years 3 months
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30, Solve (1 + II.MES) = 3
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m= 17.62 — round to 17 years 8

For #31-34, use the formula § = Pe™,
3. Time to double: Solve 2 = ™ leading to

= ﬁ In 2 = T7.7016 years. After 15 years:
5 = 12 500eMMNIE oy 48 21T R

32, Time to double: Solve 2 = ™ |zading to
= ﬁ In 2 = Bi6643 years. After 15 years:
§ = 325005005 = 107,903,580,
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33, APR: Solve 2 = ¥ leading tor = Eln I e 17335

After 15 vears: § = 9500/ & £127 816 26 (using
the “exact™ value of F).

1
3. APR: Solve 2 = ¢ leading tor = Eln 2= 11.55%
After 15 years: § = 16 8002 505) = §05 13515 (using
the “exact” value of F).

In #3541, the time must be rounded up to the end of the
next compounding period (except in the case of continuous
compounding).

4
rounds to 17 years & months.
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4 In 102
rounds to 9 years (alwiosr by 8 years 9 months).
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m= 8.751, which
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37 Solve 1l + 00Tt = 22 = # = 1429, which rounds 1o

15 years.
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= 1024, which rounds

to 11 years.
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Im = 099, which
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39, Snlw:(l + T) = Iip =
rounds to 10 years.
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40, Snlw:(l +F) =2 = T in(l + 0071T)

m= 093, which rounds to 10 years.
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For #4245, observe that the initial balance has no effect on
the APY.
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-ﬂ.APY-(I +¥) =1 = 614%
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8APY =1+ =1 = 502%
(1+2) -1
M. APY = & = | = 630%
1z
a.a.w-(u%) -1 = 480%

0.0s [ F
46, The APYs are (I + F) — 1 = 5.1162% and

005144
(I + T) = 1 = 5.1984% . 50, the better investment
is 5.1% compounded quarterly.
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1
47, The APYs are SE".". = 5.125% and ¢ = 1 = 5.127T1%.
S0, the better investment is 5% compounded continuouwsly.
1+if=-1

For #4#-51, use the formula § =
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(100605)"245) — ¢
5= o = S42211.46.
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4. 1= —5— = 00129... and R = 50,50
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R = 523942 per moath (round up, since 323041 will not
be adequate ).

SLi= oo . 0.00375; salve

12
000 = R (100375) 1200 =
20 L0375
per month (round up, since 315802 will not be adequate).
1=+
7 3

to obtain & = $158.03

For #2-55, use the formula A = R

= (L0625, solve

1 = (1006625124
9000 = R ————re e to obtain R = 521951
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